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THRIETR : 220601115 2IMEZET , EiddE 2022F 65 1H , ME&EA
AT, XA 7TANIMER (20226 H6 HE2022F 6 H 14 H), 1B
Y, BEATANRE.

BXZREEE ©  (028) 62695502
BRR ML AR IX A REEE 3 SRR T ABELIE 3 B

AR ATBERIT -

z BHIES mE | BT ey Y I i
1 2206015100000100001 | =itk K2 % /p4kT| 52 68.2 | A&
2 2206015100000100002 | EEE 2 /%I 45.5 63 REE
3 2206015100000100003 | #XFRFA RZIm /KT 62 67.8 | B&

4 2206015100000100004 | F$R REIm /KT 54 67.4 | REHE
5 2206015100000100005 |  B&4T 2 M%/F&RT| 86 67.5 | A&

6 2206015100000100006 | Fig4e 2 M%/FKT| 82 68 | A%

7 2206015100000100007 | 47k 2 %/h%kT  68.5 66.8 | &

8 2206015100000100008 | #7EnE =2 Uk /HKkT| 85 69.2 | &1&

9 2206015100000100009 | 3%k 2 &/HH{T  52.5 70.2 | A
10 | 2206015100000100010 | {E7EA K2 P&k/HhH/KT  65.5 643 | &8
11 | 2206015100000100011 | {EEZF 2 % /R4 T| 85 725 | A&
12 | 2206015100000100012 | [EZEBE K2 & /HHKRT  64.5 67.1 | &8
13 | 2206015100000100013 IEES FzZIm Ok /HHKRT| 89 68.4 | &1




14

2206015100000100014

PaZk/shek T

63

67.7

15

2206015100000100015

PaZk/shek T

61

72.8

16

2206015100000100016

PaZk/shek T

66

71.1

17

2206015100000100017

PaZk/ ek T

63.5

67.3
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2206015100000100018

PaZk/shek T

64

67
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2206015100000100019

PaZk/shek T

54

65.3
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2206015100000100020

PaZk/shek T

51

69

21

2206015100000100021

PaZk/shek T

50.5

66.8

22

2206015100000100022

PaZk/shek T

54.5

71

23

2206015100000100023

PaZk/shek T

59.5

62.5

24

2206015100000100024

PaZk/shek T

71.5

67.6

25

2206015100000100025

PaZk/shek T

53

62.2

26

2206015100000100026

PaZk/shek T

61.5

64.3

27

2206015100000100027

PaZk/shek T

84

74.2

28

2206015100000100028

A%/ ek T

41.5

67.8

29

2206015100000100029

PaZk/shek T

60

65.3

30

2206015100000100030

PaZk/shek T

47.5

68.6

31

2206015100000100031

PaZk/shek T

73

67.8
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2206015100000100032

PaZk/shek T

TRE

TRE

33

2206015100000100033

PaZk/shek T

42

67

34

2206015100000100034

PaZk/shek T

55.5

65

34

2206015100000100035

PaZk/shek T

45.5

65.3

36

2206015100000100036

PaZk/shek T

41.5

65.5

37

2206015100000100037

PaZk/ ek T

52

65.8

38

2206015100000100038

PaZk/shek T

56.5

70.4




2206015100000100039 | RAFZH =2 POk/pRT| 415 67.1
2206015100000100040 | E=RR =2 O/ KRT| 67.5 67

2206015100000100041 | SRFFEE RZIm PuZk/HhH/ T 68.5 66.6
2206015100000100042 | Z[Fi 2 PR /hRT| 54 63.4
2206015100000100043 | HEHiEE 2 MR/ T 76 67.6
2206015100000100044 | ={EE 2 PuZk/hgR T 83 69.6
2206015100000100045 B 2 PUZR/hR T 54.5 71.9
2206015100000100046 | ZiEi 2 PUZR/hR | 54.5 64.3
2206015100000100047 R 2 Muk/hR T 41 71

2206015100000100048 | IREEIE RZm MU%/h{R T 84 77.5
2206015100000100049 B REIm PUZ%/h{R T 52.5 66

2206015100000100050 | &g RZm PuZk/Hh/ T 53.5 69.5
2206015100000100051 pUES RKZIH Ok /KT 51 71.6
2206015100000100052 BiR =2 Pk/4T| 68.5 67.4
2206015100000100053 | 3KEE RKZIH POk/RT| 755 68

2206015100000100054 JZ0N 2 PR/ T 69 67.4
2206015100000100055 BIR 2 PR /R T|  49.5 66.8
2206015100000100056 Ri2 2 PUZR/hgR T 52 66.2
2206015100000100057 | 23 2 mug/hR T 77 69.2
2206015100000100058 | E&&#Hk 2 PUZR/hR T 54.5 63.4
2206015100000100059 | XIELk 2 PuZk/hHKR T 80 63.4
2206015100000100060 | =EHH K2 PR/ T|  89.5 71.3
2206015100000100061 | ez REIm PUk/Hh/R T 68 63.4
2206015100000100062 | ER#AR RZIm uk/hRT| 83 69.1
2206015100000100063 | #AZWE REIm Pugk/Hh/ T 70.5 66




64

2206015100000100064

VN

PaZk/shek T
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PaZk/ ek T
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67.6
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XUEe

PaZk/shek T

85.5

67.3
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B

by

*

PaZk/shek T

58.5

67.4

75

2206015100000100075

£l

PaZk/shek T

60

68.9

76

2206015100000100076

BRR

PaZk/shek T

85

68

77

2206015100000100077

SRR

PaZk/shek T

69.5

67.4

78

2206015100000100078

Bz

PaZk/shek T

60

67.3

79

2206015100000100079

IBIHIH

PaZk/h T

82

71.7
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PaZk /R T

55.5

67.1
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ERE

ERE

82
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A%/ ek T

70.5

67.7

83
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PaZk/shek T

54.5

66

84
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ey

PaZk/shek T

76.5

76

85

2206015100000100085

SR

PaZk/shek T

72.5

67

86
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PaZk/shek T

86.5

69.3

87
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79
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76.5

68.2




89 | 2206015100000100089 | aktHig REIm Mm% /FHKRT| 63 62.6 | A%
90 | 2206015100000100090 | =@ RZIm % /KT 60 67.1 | &%
91 | 2206015100000100091 | Z=E# RZIm k/HH{ T 50.5 66.8 | &K
92 | 2206015100000100092 T RKZm % /HHKRT| 63 68.9 | A&
93 | 2206015100000100093 | [EEA RKZm % /HHKRT| 52 66 | A
94 | 2206015100000100094 | HIER RKZIm % /HHKRT| 63 65 | &8
95 | 2206015100000100095 XUEE RKZm %% /FHKT 60 63.4 | &%
96 | 2206015100000100096 9N RKZm /KT 57 65.1 | FEHK
97 | 2206015100000100097 "= RKZm % /HRHKT 56 68.6 | FEMK
98 | 2206015100000100098 | /NS RZm %/ 70 68.2 | &%
99 | 2206015100000100099 | RE#A REIm % /KT 52.5 65.7 | AEHE
100| 2206015100000100100 | ZEAFH =2 g%/ T| 55.5 66 PNy
101 2206015100000100101 | =Y RKZIH PR /HRKT| 55 68 EN=Y
102| 2206015100000100102 B =2 O/ RT| HhE HE | A58
103| 2206015100000100103 FERx RZm PUk/hR{ T 54.5 68 | FE
104| 2206015100000100104 2 RKZm /KT 77.5 69.9 | &%
105| 2206015100000100105 HT FZIm /T 72 66.7 | &1&
106| 2206015100000100106 e 2 O/ T| 85 65.9 | &1&
107| 2206015100000100107 | #HaNE RZIH U/ KT| 62 64.9 | &1&
T A




